MENU ROZWIJANE 

<html><head>  <meta http-equiv="Content-type" content="text/html; charset=ISO-8859-2" />

<script language="JavaScript">

function rozwin(objectID) {

state=document.getElementById(objectID).style.display;

if (state=='block') {

document.getElementById(objectID).style.display='none';

}

else   {

document.getElementById(objectID).style.display='block';

}

}

</script>

<style type="text/css">

.menuHead {color: blue; font-weight: bold; font-size: 14px; font-family:arial; text-decoration:none;}

.menuOption {color: blue; font-size: 12px; font-family:arial; margin-left:10px;}

#menu1, #menu2, #menu3 {display:none;}

body {font-family:arial; background-color:silver;}

</style>

</head> <body>

 <hr width=90% align=left>

 <a class="menuHead" href="javascript:rozwin('menu1')"><b>&gt; Menu 1</b></a>

 <span id="menu1">

       <a class="menuOption" href=option1.html target=ramka2>Option 1</a><br>

       <a class="menuOption" href=option2.html target=ramka2>Option 1</a><br>

        <a class="menuOption" href=option3.html target=ramka2>Option 1</a><br>

        </span><br>

  <hr width=90% align=left>

 <a class="menuHead" href="javascript:rozwin('menu2')"><b>&gt; Menu 2</b></a>

 <span id="menu2">

       <a class="menuOption" href=option1.html target=ramka2>Option 1</a><br>

       <a class="menuOption" href=option2.html target=ramka2>Option 1</a><br>

        <a class="menuOption" href=option3.html target=ramka2>Option 1</a><br>

        </span><br>

   <hr width=90% align=left>

<a class="menuHead" href="javascript:rozwin('menu3')"><b>&gt; Menu 3</b></a>

 <span id="menu3">

       <a class="menuOption" href=option1.html target=ramka2>Option 1</a><br>

       <a class="menuOption" href=option2.html target=ramka2>Option 1</a><br>

        <a class="menuOption" href=option3.html target=ramka2>Option 1</a><br>

        </span><br>

</body></html>

Pokazywanie ukrywanie obrazka

<html><head>

  <script language="JavaScript">

 function pokaz(obrazek,state) {

  document.all['obrazek'].style.visibility=state;

   }

function zmiana(obrazek) {

 state=document.getElementById('obrazek').style.visibility;

 if(state=='visible')

     document.all['obrazek'].style.visibility='hidden';

 else {

     document.all['obrazek'].style.visibility='visible';

 }

 }  </script>

  <style type="text/css">

    #obrazek {position: RELATIVE;visibility: VISIBLE; top:10; z-index=0;}

  </style>

</head>

<body onload="zmiana('obrazek')")>

<a href="javascript: void('')" onclick="pokaz('obrazek','visible')")>pokaż obrazek</a>  &nbsp; &nbsp;

<a href="javascript: void('')" onclick="pokaz('obrazek','hidden')")>niepokazuj obrazka</a>   &nbsp; &nbsp;

<a href="javascript: void('')" onclick="zmiana('obrazek')")>zmien widocznosc</a>   <br>

<img src="menu.jpg" id="obrazek">

</body></html>

Proste przegladanie zdjęć

<html><head>

 <style>

  #dalej2 {position:realtive; visibility:visible; }

  #wstecz2 {position:realtive; visibility:hidden; }

  </style>

<script language="JavaScript">

var i=1;

function dalej() {

if (i<9){

i++;

document.images[0].src=i+".jpg";

document.forms[0].text.value=i+" z 10";

document.all['wstecz2'].style.visibility="visible";

}

else {

i++;

document.images[0].src=i+".jpg";

document.forms[0].text.value=i+" z 10";

document.all['dalej2'].style.visibility="hidden";

}

}

function wstecz() {


if (i>2){


i--;


document.images[0].src=i+".jpg";


document.forms[0].text.value=i+" z 10";


document.all['dalej2'].style.visibility="visible";


}


else {


i--;


document.images[0].src=i+".jpg";


document.forms[0].text.value=i+" z 10";


document.all['wstecz2'].style.visibility="hidden";


}


}   </script>


</head><body><br>


<img src="1.jpg" width="300" height="250">


<form>


<input type="text" size="10" value="1 z 10" name="text">    <br><br>





<input type="button" value="wstecz" id="wstecz2" onclick="wstecz();">&nbsp; &nbsp; &nbsp;


<input type="button" value="dalej" id="dalej2" onclick="dalej();">&nbsp; &nbsp; &nbsp;





</body></html>











